SUMPO SuMPO EPD

VEPD  syumpss

VERIFIED

RICOH

imagine. change.
HA)a—

RICOH COMPANY,LTD

BEE(
Bm1aHiY

BEXRERME
=332 mEE)
R RRE, S, 8.
M- MR EE, BE- UV

HROBKX, TEMLK-FEx
A5 : RICOH MP W7100TR
FEARK-FET
*I-ITA-NY N TUVS(EPHR)
-B/7010%/4 (A1)

.]E’_
-BRAARTAXA0

FUWEDHE%E
HASHYI- RRILABAXHEA1-3-6

https://www.ricoh.co.jp/

(EPD)
EixES ¢ JR-AI-24568E

SUMPORIESNIVTOIS s
—MRALEEAY AT IR EHEE
RREFTREXAHHE-14-8
KANDA SQUARE GATE
https://ecoleaf-label.jp

S5—STF—TyRTYLR(EPH )

RICOH MP W7100TR

ERES JR-AI-24568E
EFAPCRES  PA-590000-Al-08
PCR% ENEYNEpali =
NE]=! 2025%5H30H

REEETEE 2025458218
REEAR YATLRIEAR
RALES JV-AI-24568
REEEEARM 2030458 20H
PCRLE1-DETE
REHZ 202369818
ZER g Bx
—RAERBEAY AT F IR E HEEAEAE
B=EIREE

SERIREEE  AWE R

ISO14025(Z > 1= AE E R UT - DIz LR EE
CORER WA

*YATLRAER B EEFRNORIEDH AR, YATLRAETLEEEDH
BIZEC &,

TEE  (03)3777-8111 (&%)

ZixES ¢ JR-Al-24568E



SuMPO EPD SUMPOBRIEIANIN OIS

5“"’“’0 — AR AY AT IR E
| “o 4T NBEEE (EPD) ERBTABEAME-14-8
VERIFIED KANDA SQUARE GATE
BIRES ¢ JR-AI-24568E https://ecoleaf-label jp
DF1TY1 DIV B BTl R
0% 20% 40% 60% 80% 100%
SUEZED IPCC 2013 GWP 100a 3100 | kg-COzeq 6
[7ye(e 40| kg-SO.eq 6
BREE 24| kg-Sheq o
w DR FH#AE Qi
= QA mOFER-#IFER
B@EE-)YA1IIL
MER I5EH Bifi =i OEMHRE Q%E QB |oEmR wsER| OEE VI
SURZE) kg-COzeq | 3.1E+03 1.7E+03 2.6E+02 5.1E+01 1.0E+03 4.7E+01
44 kg-SO.eq | 4.0E+00 2.5E+00 2.4E-01 1.7E-01 1.0E+00 4.4E-02
EREE kg-Sbeq 2.4E+00 8.4E-01 1.7E-03 2.1E-04 1.5E+00 1.3E-04
IEH Bifu mHE-YE (ERES) Bifip
FEERREER 3.6E+02 kg SuUs 6.9E+00 kg
HAERBRER 4.5E+02 kg TIVIZOL 1.5E+01 kg
EEpliki] 2.0E+02 kg
Z0fthEE 8.2E+00 kg
BT EB MR RE 5.3E+01 kg
BRI 1.4E+00 kg
A3 1.3E+00 kg
A 43E+00 kg
sy 24E+01 kg
NEN=p=1l 1.5E-02 kg
FEEEFEER 3.2E+00 kg
%) 2.8E-04 kg
Z0ft 0.0E+00 kg




SuMPO EPD SUMPORIESIAINTOIS In

SE"MS’D . — R EE AT AT IR B S
o .. 4T NBEEE (EPD) ERABTFREXAME-14-8
VERIFIED KANDA SQUARE GATE

BEHES ¢ JR-Al-24568E https://ecoleaf-label jp

GOEERKECATZEMIER
CBEERICRAVRYFUAICBWGRIRLESELS
- 5-IIA-IVbTUVE (EPAR)
HRoftrEitE s BR
EEFEREAME  5EM
AEE AR : 30,00012(A0)X
KI=ITA-NYTUVFEPAR)DIZEYFUATEELTWET,
{BEREAEER EIRIEE) OBMEET ELTVERA,
SEALUEEBRIRNY-29-T075 4 Ver2.0TY,

©-1.ZDtDIRIFRIEIFIR
“BRHMROHSTE B ICERLTWET,
-AB GO EEE, TEBRBTHBIBLE. M -DEERISO14001 RIS THICTHHTHN TVET,
FRALES 1 JQA—E-70001

https://jp.ricoh.com/sustainability/environment/management/iso

DERLEZRT-IDEXS
IDEA v3.1.0. B&U, TOJ5LEZFEE AV 152ERALTVET,

®fE%E

OT-YEEDAHER. PCRELVEE - EERRESRBL LI,
OLLR(IDVWTR, BE - EERBCAEINERGEHRELEGELLIEDONEEA,
(BB URL : https://ecoleaf-label jp/regulation/)
E$REFS © JR-AI-24568E



